1
compendiums_reviewed
p <0.001

compendiums_reviewed
p <0.001

<12 >12

mpendiums_reviewed
p <0.001

compendiums_reviewed
p <0.001

<t > E <17 >17 <
compendiur” compendiums_reviewed compendiur” compendiums_reviewed
p <% p <0.001 p <% p <0.001
<1 >1 54 >21 <2Z >2 < >40
< >8 compendiuy” compendiums_reviewed compendiums_reviewed
I P =% p <0.001 p = 0.026
/ \ < >15 < >18 < >28

Node 4 Node 6\Iode ‘Npde 1(Nwode I\IEode 1BI®de 15Iode 1IXIode 18I®de 2I8Iode ZMode 25I®de 26ode 2Bode 29 {n:

K

[y )




